
 

Q1. NON-CALCULATOR 

The table shows information about the numbers of fruit trees in an orchard. 

 

 
(a)  The pictogram shows this information. Complete the key for the pictogram. 

 

(1) 

(b)  There are 90 fruit trees in the orchard. 

 

 

Draw an accurate pie chart for this information. 

 

(3)   
(Total for question = 4 marks) 
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GCSE QUESTIONS 



Q2. NON-CALCULATOR 
Year 9 students from Halle School were asked to choose one language to study. 

The table shows information about their choices. 

 

 

 

(a)   Draw an accurate pie chart to show this information. 

 

 

 
(3) 
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Year 9 students from Lowry School were also asked to choose one language to study. 

This accurate pie chart shows information about their choices. 

 

 
Shameena says, 

"The pie chart shows that French was chosen by more Year 9 students at Lowry School than at Halle 
School." 

(b)   Is Shameena right? 

You must explain your answer. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 

(1)  
(Total for question = 4 marks) 
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Q3. NON-CALCULATOR 

The pie charts show information about the favourite animal of each student at school A and of each student 
at school B. 

 

Henry says, 

"The same number of students at each school have tigers as their favourite animal." 

Is Henry correct?  
You must show how you get your answer. 

 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
  

(Total for question = 4 marks) 
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Q4. CALCULATOR ALLOWED 

Joan asked each of 60 people to name their favourite vegetable. 

Here are her results. 

 

Draw an accurate pie chart for her results. 

 

(Total for question = 3 marks) 
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Q5. CALCULATOR ALLOWED 

Sharon asked each of her friends to name their favourite Olympic sport. 

The table below shows information about their answers. 

 

Draw an accurate pie chart for this information. 

 
 
 
 
 
 
 
 
 
 

 

(Total for question = 3 marks) 
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Q6. CALCULATOR ALLOWED 

A group of football fans were asked what their half time snack was. 

The table below gives information about their answers. 

 

Draw an accurate pie chart for this information. 

 

  

(Total for question = 3 marks) 
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Q7. CALCULATOR ALLOWED 

60 students were asked how they get to school. The table shows the results. 

 

 

 

(a)  What fraction of the 60 students did not walk to school? 

 
 
 

 ...........................................................  

(2) 

(b)  Complete the pie chart for the information in the table. 

 

(4)  
(Total for question = 6 marks) 
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Q8. CALCULATOR ALLOWED 
Rachel carried out a survey of 10 people to find out the type of fruit they like best. 
The table gives information about her results. 

 

(a)  Which type of fruit is the mode? 
 

........................................................... 
(1) 

In Rachel's survey, 2 out of 10 people like apples best. 
(b)  Write 2 out of 10 as a percentage. 

 
........................................................... % 

(1) 
Pete also carried out a survey to find out the type of fruit people like best.  
He asked 30 people which type of fruit they like best. 
He drew this pie chart for his results. 

 

A smaller proportion of people like bananas best in Pete's survey than in Rachel's survey. 

(c)  Explain how Pete's pie chart and Rachel's table show this. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(2)   
(Total for question = 4 marks) 
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Q9. CALCULATOR ALLOWED 

The bar chart gives information about the numbers of students in the four Year 11 classes at Trowton 
School. 

 

(a)  What fraction of the students in class 11A are girls? 

 
........................................................... 

(2) 

Shola says "There are more boys than girls in Year 11 in Trowton School." 

(b)  Is Shola correct? You must give a reason for your answer. 

 

 

 
 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

The pie chart gives information about the 76 students in the same four Year 11 classes at Trowton School. 
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Tolu says, "It is more difficult to find out the numbers of students in each class from the pie chart than from 
the bar chart." 

(c)  Is Tolu correct? You must give a reason for your answer. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1)   
(Total for question = 5 marks) 

Q10. CALCULATOR ALLOWED 

There are 240 students in Year 7 at a school. 

The pie chart shows the proportion of boys and the proportion of girls in Year 7 

 

There are 8 more girls in Year 8 than in Year 7  
There are 32 fewer boys in Year 8 than in Year 7 

Andy draws a pie chart to show the proportion of boys and the proportion of girls in Year 8 

Work out the angle of the sector in Andy's pie chart that represents girls. 

 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 

 ........................................................... °  

(Total for question = 4 marks) 
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Q11. CALCULATOR ALLOWED 

The pie charts give information about the ages, in years, of people living in two towns, Adley and Bridford. 

 

 

The ratio of the number of people living in Adley to the number of people living in  
Bridford is given by the ratio of the areas of the pie charts. 

What proportion of the total number of people living in these two towns live in Adley  
and are aged 0 – 19?  
Give your answer correct to 3 significant figures. 
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 ...........................................................   

(Total for question = 3 marks) 
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